606 45 16
B/C 10.8 B 15,319 c 1,418
11 8
19 9 9 30,000m*
606
S45  H16 20
11 8 19 9
5.8 7 19
B/C 2.6 B 25 c 9.7
5.8
H7 H19
2.8 12 16
B/C 1.4 B 5.5 C 4.0
20
2.8

H12 H16




12 12 16
B/C 1.6 B 28 c 17
12
H12 H16
3.8 13 16
B/C 2.5 B 13 C 5.3
3.8
H13 H16
20
8.0 11 18
B/C 3.1 B 32 C 10
8.0

H11 H18




9.6 14 16
B/C 1.9 B 24.6 c 12.9
)
9.6 H17
H14 H16 H17 H17
200
H17
14 7 16
B/C 45.2 B 984 c 22
)
)
14 o
H7 H16
o
)




(H32) 17,600 /
73

- (H20) 5,000 /

B/C=1.7  B=85 C=142
36.1kn/h 41.5kn/h
13 /- 64 /
5 7.2 / - 6.1 /
73
(H11 H20) 302t/
(H42) 39,600 / - (H21) 39,800 /
85
B/C=2.1  B=218 €=105
15.8kn/h — 32.7kn/h
143 /- 107 7/
99.4 / - 24.5 /
4
57 H9) 85 1,718 / 1,236 /. )
2.4t/
(H32) 8,000 / - (H20) 2,700 /
17
B/C=5.7  B=121 c=21
38.2kn/h 40.6kn/h
39/ - 8 /
127
2,574 / ~1,176 /
127
17
(H8 H16) 10 /7 -31 /
1,065t/
1)
1,700~ 1,266
H16 5,000 / - 5,100 /
B/C 1.2
B 2,620 2,038 420
161
C 2,129 1,887 242
2)
26km/h 68km/h
% / - 56/
127
S46 H16 1,266 |3)
4
5)

6)




HO 41,300 o HI7 39,829
H8 396,954TEU - H20 1,075,306 TEU
B/C 7.5 B 5,408 c 723
0, 6.5 -C NO, 153
398
(Ho 17)
( )
PFI
« D
( )
BIL 161
B2
cs =3.0( ) 4.0( )
( 15 18) 84 BEE=3.4 s
( )
( )
( )
( )
( )
( )
( )
BI 133
B2
cs =3.6( ) 3.9( )
( 16  18) 14 BEE=2.4 A
( )
( )
( )
( )
( )

PFI




